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20x4=80 MARKS

Botany: Sexual reproduction in flowering plants, Principles of inheritance & variations

Zoology: Human Reproduction, Reproductive Health

Chemistry: Chemical kinetics, Coordination Compounds
Physics: Electric Charges & Fields, Electrostatic Potential & Capacitance

1. Find the odd one w.r.t ploidy of floral structures
1) Anther wall
2) Tapetum
3) Pollen grain
4) Sporogenous tissue

2. Assertion (A): Pollen grains are well preserved as

fossils.

Reason (R): The exine of pollen grain is made up

of sporopollenin.

1) Both A and R correct and R is the correct
explanation of A

2) Both A and R correct and R is not the correct
explanation of A

3) A'is correct but R is incorrect

4) Ais incorrect but R is correct

3. Match the following

A) Pistils  fused|l) Gametogenesis
together
B) Formation  of|ll) Pistillate flower

microspores
C) Unisexual female

[11) Microsporogenesis

flower

D) Formation of|IV) Syncarpous
gametes gynoecium

1) A-111 B-1V, C-1, D-lI

2) A-1V, B-Il, C-llI, D-I

3) A-IV, B-llI, C-1, D-lI

4) A-1V, B-IlI, C-I1, D-I

4. Embryosac is to owvule as _  is to

microsporangium
1) Stamen

2) Tapetum

3) Pollen grain
4) Microspore
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5. The sequential arrangement of anther wall layers

centripetally is

A) Tapetum

B) Middle layers

C) Epidermis

D) Endothecium
H)A—-B—>C—>D
2JA—->B—->D-—>C
3y C>D—>B—A
4)C—->D—->A—>B

6. What is the function of germ pore?

1) Absorption of water for seed germination
2) Release of male gametes at stigma

3) Initiation of pollen tube

4) Emergence of plumule

7. Pollination between 2 flowers of the same plant is

called

1) Xenogamy
2) Cleistogamy
3) Geitonogamy
4) Karyogamy

8. In which of the following organisms, sperm will

10.

11.

decide the sex of progenies?
1) Drosophila

2) Birds

3) Moths

4) Butterfly

Total number of different phenotypes in F
generation in a typical Mendelian dihybrid cross
is

1)8

2) 16

3)3

4) 4

In honey bee males are

1) Diploid

2) Infertile

3) Parthenogenetically produced
4) Produced by worker bees

A woman has AB blood group. She marries to a
man with blood group B whose mother had blood
group O. Calculate the probability of their child
to be with blood group AB.

1) %

2) Ya

3) 1/8

4) 1/16

2

5.

www.TrbTnpsc.com

LEIHHF Gl DibbGHIeNer  aufleng(enym
WGBTS

A) LI LD

B) b6 ©iBs@®6l

C) BeuBasmed

D) erewi@Lrg5luwib

HDA—-B—->C—D

2JA—->B—->D-—>C

3y C>D—>B—>A

4)C—-D—->A—-B
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2) Ya

3) 1/8

4) 1/16
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Select the odd one w.r.t. dominant traits of pea.
1) Green pod colour

2) Green seed colour

3) Inflated pod shape

4) Round seed shape

How many true-breeding pea plant varieties were
selected by Mendel?

nH7

2) 36

3) 14

4) 24

Mark the odd one w.r.t. pleiotropy.

1) It is due to effect of the gene on two or more
inter-related metabolic pathways

2) In humans, its example is phenylketonuria

3) It occurs in human beings only

4) Pleiotropic gene affects several characters
simultaneously

When a cross is made between red flowered and
white  flowered snapdragon plants, the
percentage of offsprings having pink and white
flowers respectively in F2 generation will be

1) 25% and 50%

2) 50% and 25%

3) 50% and 0%

4) 25% and 0%

After ovulation Graafian follicle regresses into
1) corpus atresia

2) corpus callosum

3) corpus luteum

4) corpus albicans

A reaction of granules content which harden the
zona pellucida and ensures sure block to
polyspermy is

1) acrosomal reaction

2) cortical reaction

3) acrosin reaction

4) bindin reaction

3
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2) 36

3)14

4) 24
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15.
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1) 25% and 50%

2) 50% and 25%

3) 50% and 0%

4) 25% and 0%
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Which one of the following is not a male
accessory gland?
1) Seminal vesicle
2) Ampulla
3) Prostate
4) Bulbourethral gland
Which among the
chromosomes?
1) Spermatogonia
2) Zygote
3) Secondary oocyte
4) Oogonia

following has 23

The membranous cover of the ovum at ovulation
is

1) corona radiata

2) zona radiata

3) zona pellucida

4) chorion

Temperature of the scrotum which is necessary
for the functioning of testis is always
around below body temperature.

1) 2°C

2) 4°C

3)6°C

4) 8°C

Sertoli cells are regulated by the pituitary
hormone known as

1) LH

2) FSH

3) GH

4) prolactin

At the time of birth, development of ovum is
arrested in the form of:

1) Oogonia

2) Primary oocyte

3) Secondary oocyte

4) Egg

Pick the correct number of ART in vivo
methods?

ZIFT, GIFT, Al, IUT

14

2)2

3)1

4)3
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1) 2°C

2)4°C

3) 6°C
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Most widely accepted method of contraceptive is
1) Lactational amenorrhea

2) Implants

3) IUDs

4) Tubectomy

Government of India legalized MTP in
1) 1961
2) 1981
3) 1971
4) 1991

Hormone releasing 1UD is
1) LNG -20

2) multiload 375

3) lippes loop

4) Cu-7

Full form of RCH is

1) reproduction and child home care

2) related changes in health care

3) reproductive and child health care

4) reproductive and contraceptive centre
The permissible use of the

amniocentesis is for

1) detecting any genetic abnormality

2) detecting sex of the unborn foetus

3) artificial insemination

4) transfer of embryo into the uterus of a

surrogate mother

technique

Which of the following is a non medicated 1UD?
1) LNG - 20

2) Multiload 375

3) Lippes loop

4) Cu-7

Unit of rate constant for second order reaction is
1) mol Lts

2)st

3) mol2 L s>

4)ymoltLst

If rate constant of first order reaction is 1.386 X
102 st then the half life of the reaction will be
1) 100 s

2) 200s

3)50s

4) 150 s

5
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1) 1961
2) 1981
3) 1971
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ammyGome Geuefuii®Bi IUD
1) LNG -20

2) wevigBeurt” 375

3) 601161 QUEmETUILD

4) Cu-7

RCH et (1pp augeuid
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1) LNG -20

2) weoigBeur” 375

3) 601610 QUEmETUILD

4) Cu-7

@rewiLmb aufleng allenendbsmear aldlg wmsledluller
DIV

1) mol Lts™?

2)st

3) mol?Ls?

4) moltLs?

(p360 auflens eflenanuler afs wmded 1.386 x 1072
st om OmHHT, elmaiulesr oDy SyLeT
STV @elIeUTBTS E(HdbGLD

1) 100 s

2) 200 s

3)50s

4) 150 s
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For Arrhenius equation, slope of the graph
obtained by plotting Ink versus 1/T is
DinA

R
2 —¢
1
3) ¢
) —ta

In a zero order reaction, for every 10°C rise in
temperature, the rate of reaction is doubled. If
temperature is increased from 20°C to 80°C, then
the rate of the reaction will become

1) 48 times

2) 128 times

3) 64 times

4) 32 times

For the reaction, 3A + 2B — 5C + 4D. Which of
the foIIowing does not express the reaction rate?

1)
)_lﬂ
id([ié]
NI
D3

Consider the following statements

a) For zero order reaction t;,, is directly
proportional to the initial concentration of the
reactants.

b) Inversion of cane sugar is an example of
pseudo first order reaction.

c) Decomposition of gaseous ammonia on a hot
platinum surface is a zero order reaction at
high pressure.

The correct statements are

1)a&bonly

2) b & conly

3)a&conly

4)a,b&c

A reaction is 50% completed in 30 minutes and
87.5% completed in 90 minutes. The order of the
reaction is

1) Zero

2)3

3)1

4)2
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1) In A

2) ——

1

3) — 5

Eq

4) — =
ymw aflng alemetuiey, @eaiGeur 10°C

Gauliupleney 2 WG, alewer  aldHd
By plium@ib. Geuliumeney 20 ° C apgev 80 ° C
UM DIFHBFHPT60, alenest aldlgHLD LOTBID

1) 48 times

2) 128 times

3) 64 times

4) 32 times

alewerids, 3A + 2B — 5C + 4D.
UeieumeusiouBpied  61g  alemedl el HHm
GG HBHTHI?

14D

)4- dt
1d[A]

) 3 dt
3) — 1d[C]
5 dt
2y~ 1d[B]
2 dt

LN6Te(HLD SnB1IBen6TTd 616 UL|RIS6NT

) umxw afloms aloaisg t (1/2) g
alemendeflest ool QFleydd  Cniy
NS HLOTGLD.

b) ambLE Frdsamular Hameudd GuTal (1pgHed
afleng alenaid@ (m 61HHHISBTL (B.

C) o wj SIWHHHHe0 gGLmer N6 Igenrd
Gopuglinied sutuy SibGomeiwmale Fenge)
Uuosw aufleng alener Qy@Lb.

gflwmen gnBmIsbel

1)a&bonly

2) b &conly

3)a&conly

4)a,b&c

o alemer 30 Ml miseaisd 50% wmmid 90
HILOLmiseied 87.5% menpeuent SBgl. alenemuies
aflena

1) Zero

2)3

3)1

4) 2
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Initial rates of reaction A + B — products, are
measured for different concentration of reactants
A and B as follows

[A] [B] rate (Ms™?)
0.01M 0.02 M 1.02 x 102
0.01M 0.04 M 1.02 x 102
0.02M 0.04 M 2.04 x 1072

The overall order of the reaction is
10
2)1
3)2
4)3

Compound with formula CoClz.4NHz gives 1
mole of AgCI precipitated per mole of the
compound with excess AgNOs find the
secondary valency of compound

n1

2)2

3)4

4) 6

Write the formula for coordination compound
diamminesilver (I) dicyanoargentate (1)

1) [Ag(NHa)2] [Ag(CN)-]

2) [Ag(NHs)s] [Ag(CN):]

3) [Ag(NHa)2] [Ag(CN)s]

4) [Ag(NH2)2] [Ag(CN).]

Match the following

Coordination Name

compound

A) Ks[Fe(C204)3] i) Amminebromido

chloridonitrito—-N—

platinate (I1)

B) [Co(NH3)sCI]Cl>  [ii) Potassiumtrioxalato
ferrate (111)

C) iii) Pentaammine

[Pt(NH3)BrCI(NO2)] °|  chloridocobalt (I11)
chloride

1) A-ii, B-iii, C-i

2) A-iii, B-i, C-ii

3) A-i, B-ii, C-iii

4) A-iii, B-ii, C-i

. What is incorrect match

1) H.O — Aqua

2) SCN™ — Ambidentate

3) C20;2 — Monodentate

4) [Co(NH3)6]™® — Homolyptic
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alemeiuilesr oL el@smser A + B —
alemenOuT(hHeTHeT, A B B alemensefer
CeouaiGaum Caple s EHeHE) LN esTeU(HLOTmI
SlenalLLILGaEmE

[A] [B] rate (Ms™)

0.01 M 0.02M 1.02x 1072

0.01M 0.04 M 1.02x 1072

0.02 M 0.04 M 2.04 x 1072
allemenuier U BHOLWTHS euflend
N0
2)1
3)2
4) 3
CoCl3.4NH3 eumuium’ BL 65T dnlgUl Be0DEULITEIG],
osiugwTer AGNOs o 1L ai GaJgHer @
Gurenids@ 1 Gomeo  AQCl  afibuigeneuds
CEThsaImg. GCaModhdlar  @IewiLmD  Henev
BRI H BN BHEIL MILIALD.
n1
2) 2
3)4
4) 6
L syemiaidleval] (1) el FuwiGeimeyyOmgemiGLL

() QUHRISEINIL  HeOMEBBTET  GUTWILITL DL
GT1DS|LD

1) [Ag(NHa)2] [Ag(CN)2]

2) [Ag(NHs)s] [Ag(CN).]

3) [Ag(NHs)2] [Ag(CN)s]

4) [Ag(NH2)2] [Ag(CN).]

Ledteu(mHeussiauBenmll GUImheHHaLb

Coordination Name

compound

A) Kz[Fe(C204)3] 1) o1emietGymOGLT
&CemmfIGLTemBLFIGLT-

N-19ermm19Geon” (11)

B) [Co(NHz3)sCI]Cl2

i) Qum Lrdlwib

Loy o dF6eol G
C.QuGyc (1)

C) 111) GuiemTL TbemLo6sT

[Pt(NH3)BrCI(NO2)] | &@GemmflGL1@smumedL
(1) &Cenmeny®

1) A-ii, B-iii, C-i

2) A-iii, B-i, C-ii

3) A-i, B-ii, C-iii

4) A-iii, B-ii, C-i

o181 SHeUBTeT GUIT(HHSHLD

1) H20 - oydbeur

2) SCN™ - & m(peneurren

3) C20;2 — gm(penenmaf
4) [Co(NH3)s]™® - @feme
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43. What are the possible isomerism for the complex

44,

45.

46.

47.

48.

[Co(NH3)sNO2] (NO3).?
i) Linkage

i) lonization

iii) Geometry

iv) Coordinate

1) i &iionly

2) ii & iii only

3) iii & iv only

4) i, ii &ivonly

Among the ligands NHs, en, CN ™ and CO, the
correct order of their increasing field strength, is
1) CO<NHsz<en<CN~
2)NHz<en<CN~<CO
3)CN"<NH3<CO<en
4)en<CN~<NH3<CO

Incorrect match is

1) Cis—platin — inhibit growth of tumors

2) Cynocobalamine — vitamin Be

3) D—penicillamine — excess of Cu removal
4) EDTA — Estimation of hardness of water

Two point charges +9e and +e are kept 16 cm
apart from each other. Where should a third
charge q be placed between them so that the q is
in equilibrium state?

1) 24 cm from +9e

2) 12 cm from +9e

3) 24 cm from +e

4) 12 cm from +e

Two point charges placed at a distance ‘r’, in air
experience a certain force. Then the distance at
which they will experience the same force in the
medium of dielectric constant K is

1) Kr

2)r/ K

3)r/vVK

4 WK

Five point charges, +q each, are placed at the five
vertices of a regular hexagon. The distance of the
center of the hexagon from any of the vertices is
a. The electric field at the center of the hexagon
is

1) —

4TTEQA?

2) —1

8mega?
q
3) >
lémega

4) zero

8
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g gHwiorer mCFTOLfIFLD eTaiTea
[Co(NH3)sNO2] (NO3)2?
1) &enewiLiL

i) aungailuied

1) i &iionly

2) ii & iii only

3) iii & iv only

4) i, 1i &ivonly

1) oeflwmdasid
IV) @(hmidenewiiL|

reofiagem NH3z, en, CN ~ wmpid CO, sieumnslest
SIFHBFHFH aUHLD 60 euedlentouient Fluime eufleng
1) CO<NHz<en<CN~
2) NHz3<en<CN~<CO
3)CN"<NH3<CO<en
4)en<CN~<NH3<CO

SHOUBTET GUIT(HGHSHLD

1) Hero-Nenmiiger -
BOHEDE!

2) »aGaGamLITeVamLOGT - enaul L Loei Be

3)  b-Guesiflevevmeniosst Cu  ssBBIged6
SIFHBLILIQUITETS]

4) EDTA - ifleit slgevisdestentouiest ogiLih

&L 19H6Men  euenTFSlenuld

@yemi(h Ueell Wleienm L miseT +9€ wmpid +e
e Uul L QFHTeneve] 16 cm. oleuBpissenL Gul
CPSIIBTeUG! OO LD ( &g 6ImhiE 6Meudhsd
Gouewi(Bld, SiHeiTed ( FHlemev  Hlemeoulled
BmsE1?

1) 24 cm from +9e

2) 12 cm from +9e

3) 24 cm from +e

4) 12 cm from +e

T gnmrsHFHed  meausbslubl Byewd  Leerd
WS L mik6lT,  &MHBEled @b  GSBIUILL
alengmuwl SIS amet. LI oieneudHeit
WeasL s el K Ser oo s5H560 9165
allenFenil ST GH@GHLID SHTTLD
1) Kr
2)r/K
3)r/VK

4) WK

b Uetel eiTenml L migkelT, +( @eibleumeaisi,
QUDSHBHLOTET SIBICHTENTHH 0T QHFHI (LPEMEITH6NT60
m6UBHBLILIB BT B60T. SHITILD Q11¥:)
(weweuled(HhEHID DIBCHTEMISHH T MLOUISHHBE
o sitem  HMID A IBICHTENHHT WLOUIGHH 60
© 6161 LOIGIT L|60LD

1) —2

4mega?

2) —2

8mega
q
3) 16mega?
4) zero
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49. The electric field at (30, 30) cm due to a charge
of —8nC at the origin in NC is
1) - 400 (T +))
2)400 (T +))
3)-2002 (T+])
4) 2002 (T+])

50. An electric dipole of moment p is placed normal
to the lines of force of electric intensity E, then
the work done in deflecting it through an angle
of 180° is
1) pE
2) +2pE
3) — 2pE
4) zero

51. A thin spherical shell of radius R has charge Q

spread uniformly over its surface. Which of the

following graphs most closely represents the
electric field E(r) produced by the shell in the
range 0 <r < oo, where ‘r’ is the distance from the
centre of the shell?

E(r)

52. Dipole is placed parallel to the electric field. If
W is the work done in rotating the dipole by 60°,
then work done in rotating it by 180° is

nH2w

2)3W

3)4W

4HW /2

9
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49. -8nC et Lib smyewiors (30, 30) cm- Bev

WesrLjeoo NC - §6v

1) — 400 (T +))

2) 400 (T +))

3) 2002 (T+])

4) 2002 (T+7)
50. p Wer Bmpeveruimerg et  alengCami e
Weevld E-&@ smsmyenions eneusbslLBSBE),
Ueten] olemg 180° Gamemidhaled Heng LD
Gouemev
1) pE
2) +2pE
3) — 2pE
4) zero
91. R ouyib G&mewiL @ Glosveli Gsmend oigHest
Gumuyiiied @@y wrgflwrer Wetanm L 1b Q m&éb
Gamemi(eengl. 0 < r <o euyblied o MU
Qeugb  E(r) dengeudmsd Laeumd  6lbs
QUMTLILMIS6T &S Oh(HHHLOTSS GBlddeimen,
®&He0 ‘T’ ereig Cameng e emLouwISHHe(HHS!

SMTLOTGLD?
E(r)

1) o r
E(r)

52.  OSI@mpemet  OSILSHIBEG — BenenTuind

meusbsLILGABH. W eraiug S mpenerenwt 60°
almBIeaugled QFUILNLGLD Ceauemev GTAIBTED, SiEND
180° o160 apBmIeugsd QFIWLLILIGLD Gauenev
12w

2)3W

3)4W

4)W /2
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54.

55.

56.
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The work done in increasing the voltage across
the plates of a capacitor from 5V to 10 V is W.
The work done in increasing the voltage from
10V to 15V will be

1w

2)4W /3

3)5W /3

4) 2W

Figure shows four plates each of area A and
separated from one another by distance ‘d’. What
is the capacitance between P and Q?

pr—< >0

1)%

2) 224
d
3)3

£0A
d
4)4

SoA
d

A capacitor is charged until its stored energy is
3J and the charging battery is removed. Another
uncharged capacitor is then connected across it
and we find that the charge distributes equally.
Final value of total energy stored in the electric
fields is

1)3J

2)251]

3)2J

4)15]

In the given circuit, if the capacitor Cs is replaced
by a connecting wire between points A and B,
magnitude of charge on each plate of capacitor
Cz will be, then

1) 60 uC
2) 52 uC
3) 48 uC
4) 36 uC

10
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53. @ WerGapabaluler FH(haeied LIGTeNDSHHHMD

54.

55.

56.

5V wse 10 V ey ofsfliuged
CeuwL@BD Bauemev W SLGID.
etenpsHsHms 10V @almpps 15V o
SIF@fiugled Gauiwiiupl Geuemev

W

2)4W /3

3)5W /3

4) 2W

UL ugty A Gsmewil BHTelg SHHHHMmeNTSH

&M GEps omal 'd' MHsTed @aEelnhsl
wBoprem  flédsiu’ Gerengl. P wBmib Q
BewL_Bui 2_eiTen LO6STBH 5 FH I m6uT 616016017
p—=< >—0Q
€0A
1) —
2) 254
d
3) 324
d
4) 422
d

0 WaCssd oipHar Caildaliul L oBpsed 3
LG auen) WML L 1D GEFuiinGapgl wBnIb
WledTemITL L LI L L0 631&60LD SIBBBLILIGBLD.
LBEBTH Wetenm L b e ng WeaiGsHsa
D161 GBIHCH GementdslILL (Beitendl, Gevib
Weignm L b  gwwns  alpCumdlassliLibheuamsHd
&1 Gpmd. e jeomiseied  CaFbldsiul L
GoTHs ubpele Buig Sl

1) 3J

2)251]

3)2]

4)15]

QamHEsIULT L aaBen, aBshdd Cs oy
A wBmib B yetelsends@ Benl uled Senemntd@Ld
SIWmed  IBBUILLLTe, Wa8xHeHd Cz @i
6UG6UT(H HLIQEVILD LOGITEDITL L DI61T6Y 6T6116161T6)

C=1uF C3=6 uF
| |
1 rh
— Cs= 1.5 uF [
| | I ||
Il B |
Cy=3uF C,=4 F
|
|
28V
1) 60 uC
2)52 uC
3)48 uC
4)36 uC
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57. In the given figure, the capacitor of plate area A
is charged upto charge g. The ratio of elongations
(neglect force of gravity) in springs C and D at
equilibrium position is

k; k| E
: I ALY,
D C E
1) ki / ko
2) ko / ke
3) kiko
4 |2

58. The capacity of a parallel plate capacitor is C. Its
capacity when the separation between the plates
is halved, will be

1) 4C

2) 2C

3) C/2

4) Cl4

59. A hollow spherical conductor of radius R is given
a charge Q. Work done in moving a charge ‘q’
from its centre to surface is
1 Qq

) =1
41tegR

60. A and B are two concentric spheres. If A'is given
a charge Q while B is earthed as shown in figure,

then

1) the charge density of A and B are same
2) the field inside and outside A is zero
3) the field between A and B is not zero
4) the field inside and outside B is zero

11
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S7. Qam@EsHaUUL L UL GH6e0, SL g6t Ll A QsmeurL
OB H S S WITeT g LOl6TEITL L LD q I
et L1b  QeliwiuGasal.  Foplemeouied
amem C oppid D et B Aullest  al&siomerg
(Fy0y eflenFeamw LB s emilbaa]b)

k; k)
| —aa0ss,
D C E
1) ki / ko
2) ka I ki
3) kik
kq
4) 5
58. am et &6 WeTChdbalulesr L0 @ dme
C. s paendd LB 2 aren Ufelemer
UTSHWITHES GMBSGLD Gurgl SIBH6
LO6ITCH &G BHmest
1) 4C
2) 2C
3) C/2
4) Cl4
59. R ayiib Gameni @b QeuBml Camend &L &HHdE

@ Wamm L Q euphsluGABH. @
Ui LD ‘q° &8 ST  »wwSHHedHba
GoBurliLeE baJHaIeudle0 GFuwiuiuG Geuemen

1) Qq

41egR

60. A wppib B @yemih 2 _eieneniohsd Gomenmibe.
UL S0 ST LU BeiTeriy B sewguienemriiyy
QauiwuGwCurgd A & @ Weaam L Q
CaTHSHSLILILLT6D, LIBE)

1) A oipib B Ser laiem’ L o1 JH8 Gy
rHAwrs S maeELD

2) A 81 2 _6Gemuyd GeueMGuiujd 2 _6iterm Lj6VLD
L2323 WILDT(&H1LD

3) A wBmib B §ent_Gui 2_aiterm Leuld L2 uinTs
B®60em6v

4) B @1 2_6iiGenuyid GeuelBuiutd o _eiten Ljeold
L e2e3lwinm@Ld
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AUPRA wAVES

NEET MACRO TEST 6 (21.12.2024) 20x4=80 MARKS
Botany: Sexual reproduction in flowering plants, Principles of inheritance & variations

Zoology: Human Reproduction, Reproductive Health

Chemistry: Chemical kinetics, Coordination Compounds

Physics: Electric Charges & Fields, Electrostatic Potential & Capacitance

Solution
1. Answer: (3) 32. Answer: (3)
2. Answer: (1) Hint: t.., - 9-693
3. Answer: (4) Y2k
4. Answer: (3) 0.693 2
Sol.: - -05x10% =50
5. Answer: (3) ok 2 = 6102 ®
6. Answer: (3)
7. Answer: (3) 33. Answer: (4)
g' 222&2: 83 Hint: Arrhenius equation, k = Ae Fa’RT
10. Answer: (3) Sol.: k = Ae Ea/RT
11. Answer: (2) £
12. Answer: (2) Ink =——2+In A
13. Answer: (3) RT
14. Answer: (3) ~
15. Answer: (2) Slope =-E,/R
16. Answer: (3) In k
17. Answer: (2)
18. Answer: (2)
19. Answer: (3) 1T
20. Answer: (1)
21. Answer: (1) 34. Answer: (3)
: 80-20
22. Answer: (2) Rate (80°C) [ s ]
23. Answer: (2) nt: m =2
24. Answer: (2)
25. Answer: (3) Sol.: Rate (80°C) = 2% rate (20°C)
26. Answer: (3) = 64 rate (20°C)
27. Answer: (1)
28. Answer: (3) .
29. Answer: (1) 35 Ar_15wer. 3) )
30. Answer: (3) Hint: For reaction, aA + bB —— cC + dD,
ate— VAl 1dB] _ 1d[C] _ 1d[D]
31. Answer: (4) a dt bd cdt ddt
Hint: For second order reaction, 2A — P Sol.:
Rate = k[A]2 Rate — 19AI_ 1dB] _1dC]_1d[D]
[A] 3 dt 2dt 5 dt 4 dt
Sol.: ——— =Kk[A]?
dt 36. Answer: (4)
1.1 Hint: In inversion of cane sugar, water is taken in
K = molL 's L g excess amount.
a mol2L—2 =mo S Sol.: Reaction of gaseous substances on metal
surface at high pressure is zero order reaction.
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37. Answer: (3)
Hint: ¢ For zero order, [R] = —kt + [R]o

e For first order, kt = 2.303 Iog%

Sol.:
ts7.5% = 3 x tsow, the order of the reaction is one.

38. Answer: (2)
Rate = k[A]"[B]™

1.02x1072 = k[0.01[0.02]" (1)
1.02x1072 = k[0.01]" [0.04]" (2)
2.04x1072 =K[0.02]"[0.04]™ ...(3)

Applying eq(1)/eq(2), 1= (%) =n,=0

Applying eq(2)/eq(3), % = [%] =>n, =
. Overall order of reaction=0+1=1

39. Answer: (4)

Since compound forms 1 mole of AgCl, only
one chlorine is outside the bracket, the

possible formula is [Co(NH;)4CL]Cl so the

secondary valency is ‘6’.

40. Answer: (1)
Option (1) is correct formula

41. Answer: (1)
Option (1) is correct match

42. Answer: (3)
C,0;” — bidentate ligand

43. Answer: (1)
The above complex shows ionization and
linkage isomerism NO; is ambidentate, ligand,
so it shows linkage isomerism NO, & NO;

exchange their places so exhibit ionization
isomerism

44. Answer: (2)
The correct order is option (2)

45. Answer: (2)
Cyanocobalamine — vitamin B

www.TrbTnpsc.com

46. Answer: (2)

K(9e)q  Keq
r’ (16—r)°

= 3 . ! =r=12cm
r 1l6-r

47. Answer: (3)

=11 Q4
k dne, 1’
ki = const. = ki, = kory”
9 9 T
(Dr=k(rn)” =>n=—
Jk
48. Answer: (1)
- 9
47(8-0 a“”
44

Suppose the charge is present at the sixth
vertex also, then electric field at center would
be zero. Now, if charge is not present at this
vertex, the electric field at center would be
because of other five charges, which should be
equal and opposite to the field produced due to
single charge at the sixth vertex.

49. Answer: (3)

_30i430) i+

J307+300 V2
|$=30+2 x 10”m
I Q. 9x10°x8x107° 1+]
—EI': o X
dne, T 900x2x10 V2

= —200~/2(i+]) (direction of E in S-W)

=

E=

50. Answer: (4)
Here, 8, = 90° 0, =90°+ 180° =270°

O
p_-—-—*E
< Li’LE
07 =270
.. Work done = J pE sin0do
6;=90

=[-pEcosB]3’ =0
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51. Answer: (1)

Einsidc =0
. 1 . 1
Eon = 03 = Eou = 23
4ne, R 4me, t

52. Answer: (3)
Work done = Change in potential energy

Initial potential energy = —;;.E =—pE

In case (1), final potential energy
= —p.E =-pE cos 60° = —%

In case (II), final potential energy
= —p.E =-pE cos 180° = pE
Now according to question,

PE .. PE
W=———(-pE)="—

5 ~(PE)=5
and W' =pE — (-pE) =2pE =4W

53. Answer: (3)

WZ%CX(]O)z—%XCx(S)z

:GCxl5x5:EC
2 2
, 1 > 1 2
W=—xC(15) - =xCx(10)
2 2
:lXCXQSXSZEC
2 /J
3
54. Answer: (2)
0 ——
p .
A = P LR
0
=
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55. Answer: (4)

Ui:%CVZZSJ

Equal charge means ; identical capacitors.

V
Hence, Vi= [EJ

2 2
Vo LY 1V
4 2 4

CVi=15]

Bl—

56. Answer: (3)
When AB is connected by a wire then C; and

C, will be in parallel and C; and C4 will also
be in parallel.

The given circuit can be redrawn as

The p.d. across 4 pF capacitor is given by

V= Co V—(LJXZS—SV
C,+C, 4+10

The same will be p.d. across C; = 6puF

.. Charge on C3 =C;V;
=6x8
=48 uC

57. Answer: (2)
Fe = k]X] = k2X2

x, k,

2

" x, k
58. Answer: (2)

S dhe-20
C, d,

59. Answer: (4)
Vcemre = Vsurthce = Work done =0

60. Answer: (3)
Epw A and B # 0 and all the other options are
wrong.
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